=X N| O ) (-] =) =)
2 &3 8 & & &
o 4D o 3 =
3 S I R I N Y L
P~ ) M
m | m oY) —.
T |22 a | o | F |0
m| 3 1) Q | o 3
= Q_ ﬁ‘ 2‘ D_ 5.
(= = L
m o 3 - m
Qa Q| 3 Q Q
~ = | =, ~ = )
o N 3 | = [
. | D L 8 -
Q LT3 | o )
ol | a = S L0
Q|- N LIS
c D 3 I
3 9 c Vo)
Q 8‘ S
o (720N \Q
S~ S
&
~

7

= .
@ s /\MBOO, Rz.dna=10148

ks200, rz.osi=101,52 1

1,21 101,86 | 103,07

wA110, gt.osi=1,85

1t, gt.osi=0,70

20,00 1,26

101,92 | 103,18 @ studnia $1200mm -
N

31,70 ks160, rz.osi=101,77

52,50 gA25, gt.osi=1,25

5850 wALO, gt.osi=1,85

0%

«8,NS AJd WwwooyNd
0'c=!
-
00'8Y 0002
B 1 1 77700

1 DN315, Rz.dna=102,11

~
Y
°

studnia @1400mm

68,00| 1,15
1,10

102,06 | 103,21
102,11

E

@)

72,60 wA90, gt.osi=1,85

gA90, gt.osi=125

DN200, Rz.dna=102,24

79,501 1,23 studnia 81200mm %
DN200, Rz.dna=102,24

102,21 | 103,44

92,00 wA40, gt.osi=1,85

proj. ks DN160, rz.osi=101,96 <+ |

ks160, rz.osi=101,99

1150 | 1,50 102,46 | 103,96 () studnia #1200mm

Ul

17,50 wALO, gt.osi=1,85 ‘

32,90 proj. ks DN160, rz.0si=102,26

49,40 proj. ks DN160, rz.0si=102,29

wA90, gt.osi=1,85 \

: DN250, Rz.dna=102,85

4

56,00 1,79
176

102,82 | 104,61
102,85

studnia #1200mm

ey
«8,NS NJd WWSLENCT
1 0088
057 00'Z€ 05l
4 - 100 1
+ wg o+ -

studnia #1200mm - \ | 1 DN200, Rz.dna=102,97

"DN200, Rz.dna=102,97

6700|157 102,93 | 104,49

@

76,70 1t, gt.osi=0,70

84,80 ks200, rz.0si=102,26

88,30 ks160, rz.osi=102,42

93,60 proj. woda DN40, gt.osi=1,85

proj. gaz DN25, gt.osi=1,25

103,22 | 104,82 @ studnia #1200mm

(o)

DN200, Rz.dna=103,26

9,00 |1,60 3
DN200, Rz.dna=103,26

12,50

proj. ks DN160, rz.osi=102,61 |

proj. woda DN40, gt.osi=1,85

40,00 proj. ks DN160, rz.0si=102,66

proj.woda DN40, gt.osi=1,85

proj. gaz DN90, rz.osi=103,88

103,51 | 105,12 @ studnia $1200mm

O

50,50| 1,61
53,30

proj. woda DN90, rz.0si=103,42

57,80
60,30

INN, gt.0si=0,70

proj. ks DN200, rz.osi=102,71

istn. gaz do likw. DN63, gt.osi=1,20

82,00| 1,60

103,73 | 105,33 @ studnia $1200mm
S

£ w | Z

) N
«8.,NS AJd WWwosZNg
% 0'4=!
- T
00°cE 05'LE 05'LY 00°2Y 00'tL
+
4 1 + * 77201
§ H

15,00 | 1,85 ) 103,96 | 105,81 /D\ studnia #1200mm
-
-
. 7"\ stuchia p1200mn = DN400, Rz.dna=102,06
~ 110 ~ 102,11 | 103,21 w n 3[JN315, Rz.dna=102,11
6.40 %2% IIU g \a ks200, rz.os'i:707,82 lg: |
O2<G e > gA25, gt.osi=1,25 7 !
1150 | 1,21 R 102,15 | 103,36 m .
—
N S -
S S
fo o)
. 7S\ stuchia #1200mn 3 _ DN315, Rz.dna=102,82
~ 1176 ~ 102.85 | 104 61 \ O ] ks200, rz.osi=102,08 B T
380 | 3 ' ' , wA90, gt.osi=1,85 AR
<50 S| gA90,_gt.osi=125 INN, gt.0si=0, 70 __ I
, g \Lg t—gtosi=0,76 “[ '
i 2 |
N
; \
13,00 | 1,64 102,90 | 104,54 @ studnia B1200mm | ‘2 ~ _DN200, Rz.dna=102,93
W I
17,50 , \J \
: 1t, gt.osi=0,70 —t
|
|
25,00 proj. woda DN40, gt.osi=1,85 ) “
W
R
S
33,70 = gA25, gt.osi=1,25 .
37,50 wAL0, gt.osi=1,85 ) )
4030 ks160, rz.osi=102,75 T
INN, gt.o0si=0,70
47,00/ 1,60 103,04 | 104,64 @ studnia #1200mm _1DN200, Rz.dna=103,07
~
51,00 )
wA50, gt.osi=1,85 T
55,50 ks160, rz.osi=102,69 N
+
wA40, gt.osi=1,85 + |
\
|
63,50 gA25, gt.osi=1,25 |
w ‘\
i
o |
= |
|
\
|
77,80 wALO, gt.osi=1,85 ) L
|
|
84,50| 1,43 103,19 | 104,62 @ studnia $1200mm ~ _ON200, Rz.dna=103,22
Ul T
] |
90,00 % wA&0, gt.osi=1,85 ‘ \
& T \
94,00 g proj. ks DN160, rz.osi=102,49 R |
S |
N ~ w
N |
< " |
n \
= \
3 :
12,80 ks160, rz.0si=102,48 N \
™ |
\
18,00 | 157 103,32 | 104,89 @ studnia 81200mm | bDNZOO, Rz.dna=103,35
20,50 s/ AN
wA40, gt.osi=1,85 |
gA25, gt.osi=1,25 \\
N |
> \
S
ks160, rz.osi=102,82 |
36,30 wALO, gt.osi=1,85 N |
INN, gt.osi=0,70 y |
|
4200|149 103,42 | 104,91 @ studnia @1200mm ot
~ I
5150 ks160, rz.0si=102,66 N
+
S -
58,40 ‘g INN, gt.osi=0,70 1 .
|
|
™ |
> |
N \
70,50| 147 Sy 103,53 | 105,00 @ studnia #1200mm T
9
=203 — m studnia 81200mm R %DNB’?S, Rz.dna=102,21
117 o g8 Tlw | 10227 10344 \ P ks200, rzosi-10187 f— _TDN200, Rz.dna=102,27
IR : n - :
350 | 1,048\ [T 102,34 | 103,38

@

0
D
)

DN315, Rz.dna=102,21

_ studnia $1200mm %
~ 117 0GR\ T || [10227]10344 & - 2 TDN200, Rz.dna=102,27
IONC\D |2 g :
150 108 R~Sx\S || 110230 | 103,38 =
N

studnia #1200mm ON250, Rz.dna=102,93

0
D
3

15308 g\r | 102,96 | 104,49 =y ks200, rzosi-0216 %DNNO, Rz.dna=102,96
RENEAE P 5
4,00 11,26 XS x\Q|T | 103,21 | 104,47

@?{

ezImebaz.yso-

0
D
0)

g
.8.NS
Add
00ZNd
% 089!
—
05'1=17
05
Qﬁ%

DN250, Rz.dna=102,93

studnia #1200mm g;
3 DON200, Rz.dna=102,96

1,53 102,96 | 104,49

1,26 103,21 | 104,47

DN250, Rz.dna=103,22

studnia #1200mm g;
. DON200, Rz.dna=103,25

0
D
8d

1571952 E-'S\E “ 103,25 | 104,82 sfn. kd do liwk DNT50, gtosi=7,00
O < Y [y
350 126 2~ x\S|S| 103,54 | 104,80

@?

DN250, Rz.dna=103,22

studnia @1200mm {;'
3 DN200, Rz.dna=103,25

0
D
80

=X

“

S
>

S

9

[

157 103,25 | 104,82

S

q
IIgI’NS
Add
00ZNd
0% €61
—_
051=1
05’

1,50 | 1,26 103,54 | 104,80

0
D
@9/"1

DN250, Rz.dna=102,90

_ = studnia $1200mm
N 161 %‘Ug é\a w 102,93 | 104,54 \ w / DN200, rz.0si=102,11 + SDNZOO, Rz.dna=102,93
RENEARIN — g
3,50 | 126 KR8 N AN 103,21 | 104,47 C{j_/ ;;
~

. DN250, Rz.dna=103,04

D

studnia #1200mm

157|192 é;'g'\'; w!| 11030710464 &) ks200, rzosi=102,28 i
TN\ (»n o

350 126 RS8R \S|T | 103,31 | 104,57 =

©

6L°€0L

DN250, Rz.dna=103,19

studnia $1200mm ==

0
D
7

==
v

(=)
<P

SN
>
N
W
»

TZOSI=

14009\ T 103,22 | 104,62 +
=R 0\& Lé’ F—
350 | 126 | R=Sx \S 103,29 | 104,55 = ‘%
Ve R RV
&
>N . @ studnia $1200mm 1 o017 osizto2-46 o bDN%O' Rz.dna=103,32
154 o B\ T lw | [ 103,35 | 104,89 W : : +
235 = \Ww e
2=Zx\8 |

3,50 | 1,26 S 103,56 | 104,82

w35y exans|

0
D
@ 0IM

DN250, Rz.dna=103,42

studnia $1200mm =

N 146 "’hb‘z ~ls 103,45 | 104,91 \ :‘ ) ks200, rz.osi=102,58 .
25 \W wu = —
3,50 | 126 =<8 EN 3 103,58 | 104,84 si § :
P

DN250, Rz.dna=103,53

0
@@ LM

O studnia $1200mm =
3,30 las4 ; 103,56 | 105,00 ks200, rz.o0si=102,72
S
2<-2 _\ T &
950 ng I S gA25, gt.osi=1,25
=
) wA40, gt.osi=1,85 i
15,00 | 1,03 ) 103,86 | 104,89 7=y KsTo0. rzosEIA2

:

:nyunsAy emzeu
:nyyafosd jeway
:e[ezijeyo)

10} SIMUL

VNYVLINYS

| ewag Jejd In

838}1044S0 0L7-£0
V}IF04LSO OLSVIW

BRIE

Jueyyafosd

150°ZJ ‘NN 113 “du)

L MIrodd

:eA}samul
6488261 %1 U0bay ‘89-%Z-0LZ-85¢ dIN '€98-89.-0L5 ‘woy
L/6 V1049, 093YIIMOY VYNV4ILS ‘NID "IN ‘VNIF0YLSO 0L%- £0

10dS 37

Z ZedMm

,.
P2

up

005/00L1 €84S

raM023zS30 IrIVZITVNYY 11404d

oysimzeu | i
‘yafmoyyalousd mojas op Adew aimejspod eu

‘niuazigAzad m ouepod (18°Gz|
hejeysur faselaiuyss 1so 3soyoqerb zedo fsupszd 3sojuem

‘eueiusa] emepsajog ‘in | obaiysuigog eyAiusy Axn emopng

famozazsap irezieuey jsndm Auemoysafosd
[amozaizsap i3ezijeuey eiupnys euemoyyafoud
[amozazsap ilezijeuey eiupnjs elelaiuysi

a38p044sp M famozeb 1331s emopngazad zeso

128304450 ‘mod ‘aiyraimozew ‘fom
wAuzan wajua)aImso |

nyjunsAd Ju

rAM0232530 IrIVZITYNV Y

90/50Md/5610/ZvW)|  14SUAZII00 2a063z40 “zul Jbw
AZIMYNOMNAM
eme}sajog | obaiysuiqog exyhuay ‘in emopng

AMOLMHNIrodd

uaiumesdn Juf

<
8
°
3
S
3
S
~<
&
N
[y
3
5
<
~
3
3
2
£
S
X
<
¥
S
I
N
b
5
2
3
S
o
&
g
~
=
3
<
3
el
=
R
A
.
]
z
g
3
H
3
]
<
3
Ky
3
<
N
El
S
8
3
23
Y
<
5
2
o
@
3
5
3

Auemoshiazad 135523 m qn) sores m Iq azow s Azl yaunshy wrysioine ameld o Amejsy z adefeyudm emesd ayjazsm &is ebaziisez

ey83044s0 0jsel eulfauapima eyysoupal ‘9 Aulfuapima qsuqo ‘elreys ajpaiso obalysuoway)
e43zor ‘Jn zedo obajydizposy eme}siuels ‘n ‘eueiwsa] eme}rsajog ‘in ‘obaiysuigog eyfiusy In

ejeys

SY3IID IV MOLSOW | B0HG YMOLXNIr0dd VINMOIVYd .II44VH1.,

sidpod

SLOZ'LL
eluemodeldo ejep
005/001°

11404d




